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This Question: 1 pt This Test: 25 pts
‘Simplify the expression using the order of operations.
53+6)+3(-3)

3(9-2)

5(3+6)+3(-3) _
30-2)-3° o
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This Question: 1 pt This Test: 25 pts 00f25 coml
Graph the linear equation.

x-y=5

Use the graphing tool on the right to graph the
line.
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This Question: 1 pt This Test: 25 pt= 00f25 complete
Find the intercepts and then use them to y LY
graph the equation.

3x+y=6

Use the graphing tool to graph the line. Use
the intercepts when drawing the line. If only
one intercept exists, use it and another point EnESEIeTE)
to draw the lin.

o
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This Question: 1 pt This Test: 25 pt=

Simplify the expression nd combine ke terms.

3yt -syl-eyiTy?
3yt-sy’ -6yt 7yi=[]
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This Question: 1 pt This Test: 25 pt=
Graph the equation by plotting points

y-5x=0

Use the graphing tool on the right to graph the
line.
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This Question: 1 pt This Test: 25 pt=

00f25 complet
Find the slope, i it exits, of the line containing the pair of points.
(~19,~16) and (~20,- 18)

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

OA. The slopeis [[]. (Type an integer or a simplified fraction )
OB, The slope is undefined.
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This Question: 1 pt This Test: 25 pt=

00f25 comple
Find the slope, i it exits, of the line containing the pair of points.
(40)and (0.-8)

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

OA. The slope m =[] (Simplify your answer. Type an integer or a fraction))
OB, The slope is undefined.
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This Question: 1 pt This Test: 25 pt=

‘Simplify the expression and combine ke terms.
~30y-6)+202y+6)

-30y-6)+22y+6)=[]
(Simplify your ansiwer.)
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This Question: 1 pt Test: 25pts 00f25 compls

Find the slope, i it exists, of the line containing the pair of points (2,~ 1) 2nd (2, 9).

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

OA. The slope is [[]. (Simplify your answer. Type an integer or a fraction))
OB, The slope is undefined.
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This Question: 1 pt This Test: 25 pt= 0of25 compls

Find the slope of the line shown on the graph
to the right

Select the correct choice below and fllin any
answer boxes within your choice.

OA. The slope of the fine is ]
(Type an integer or a simplified
fraction.)

OB, The slope is undefined.
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This Question: 1 pt This Test: 25 pts 00f25 complete | [

Give the slope of each line and then determine whether the two lines are paralll, perpendicular,
or neither parallel nor perpendicular

4x+5y=5
—15x+12y=0

The slope of the first ine is | |. (Type an integer or a simplified fraction.)
‘The slope of the second line is [ . (Type an integer or a simplified fraction.)

Determine whether the two lines are parallel perpendicular, or neither parallel nor
perpendicular

k. The lines are neither parallel nor perpendicular.

OF.  The lines are parallel.

OF. The lines are perpendicular.





image18.png
«“<«QO0PQ0O0O0QTOD >»

This Question: 1 pt This Test: 25 pt= 00f25 complate | [

Give the slope of each line and then determine whether the two lines are paralll, perpendicular,
or neither parallel nor perpendicular

—4x+3y=3
Sx+2y=0

The slope of the first ine is [ . (Type an integer or a simplified fraction.)
‘The slope of the second line is [ . (Type an integer or a simplified fraction.)

Determine whether the two lines are parallel perpendicular, or neither parallel nor
perpendicular

k. The lines are neither parallel nor perpendicular.

OF. The lines are perpendicular.

OF. The lines are parallel
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This Question: 1 pt This Test: 25 pts oo
Find the slope-intercept equation of the line that has the given characeristics
Slope ~ 8 and y-intercept (0.6)

The equationis y=[_|
(Simplify your answer. Type your answer in slope-intercept form.)




image20.png
> >

25 pts. 00f25 comp
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“This Questior

1pt This Te

Convert the following phrase into a mathematical expression. Use x as the variable, and.
combine like terms.

Eight times a number, added to the sum of the number and nine

Choose the correct expression.
Of gx2+7x Os. 7
OC +9)+8x 0. x+9
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This Question: 1 pt This Test: 25 pt=

‘Wit an equation for the line shown on the
right

(Simplify your answer. Type in the form
¥ = mx + b. Use integers or fractions for
‘2ny numbers in the equation.)
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This Question: 1 pt This Test: 25 pts 00f25 com
Find an equation of the line having the given slope and containing the given point.
m=6,21)

The equation of the line in slope-intercept form is y=[_|
(Simplify your answer. Use integers or fractions for any numbers in the expression.)
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This Question: 1 pt This Test: 25 pt= 00f25 complate | [

Find an equation of the line having the given slope and containing the given point.

n=2.6-9

‘The equation of the tine is y= ]
(Simplify your answer. Type your answer in slope-intercept form. Use integers or fractions for
any numbers in the expression.)
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This Question: 1 pt This Test: 25 pts 0of25 o
Find an equation of the line containing the given pair of points.
(-2.-9)and (-6.-8)

The equation of the line in slope-intercept form is y=[_|
(Simplify your answer. Use integers or fractions for any numbers in the expression.)
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This Question: 1 pt This Test: 25 pts 00f25 com
Find an equation of the line having the given slope and containing the given point.
m=8,(51)

The equation of the line in slope-intercept form is y=[_|
(Simplify your answer. Use integers or fractions for any numbers in the expression.)
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This Question: 1 pt This Test: 25 pt= 00f25 compl
Use the equation below and the indicated value to find an ordered pair that is a solution.

y=2x-1 Letx=6.

‘The ordered pair is (6] ).
(Simplify your answer. Type an integer o a fraction.)
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This Question: 1 pt This Test: 25 pt=

Complete the table of values for the equation 6x + 2y =72

x b
I
] 0
2 U

(Simplfy your answers. Type an integer or a fraction.)
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This Question: 1 pt This Test: 25 pts
Decide whether the ordered pair (9.5)is a solution of the equation.
x+y=9
15 (9.5) a soluton of x +y =97
O Yes
O No
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This Question: 1 pt This Test: 25 pt=

Find the value of the expression.

4-43+7)

44-4(3+7) =[] (Simplify your answer))
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This Question: 1 pt This Tests 25 s 00f25 complete 2
Find the intercepts for the graph of the ‘The x-interceptis [_|

equation given. (Simplify your answer. Tspe an ordered pair)
3x-4y=36 The y-nerceptis [ |

(Simplify your answer. Type an ordered pair )
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This Question: 1 pt This Tests 25 s 00f25 complete 2
Find the intercepts for the graph of the The x-intercept s ||

equation given. (Simplify your answer. Tspe an ordered pair)
3x-gy=48 The y-nerceptis [ |

(Simplify your answer. Type an ordered pair )




